Two Sample T-Test and Confidence Interval

Two sample T for Browse

College       N      Mean     StDev   SE Mean

1           193      94.0      97.2       7.0

2            85      60.4      52.2       5.7

95% CI for mu (1) - mu (2): ( 15.9,  51.3)

T-Test mu (1) = mu (2) (vs not =): T = 3.74  P = 0.0002  DF = 265

Two Sample T-Test and Confidence Interval

Two sample T for Emails

College       N      Mean     StDev   SE Mean

1           203      18.0      37.9       2.7

2            82      19.2      20.4       2.3

95% CI for mu (1) - mu (2): ( -8.1,  5.7)

T-Test mu (1) = mu (2) (vs not =): T = -0.34  P = 0.73  DF = 260

Two Sample T-Test and Confidence Interval

Two sample T for Blogs

College       N      Mean     StDev   SE Mean

1           206      10.3      21.2       1.5

2            94      10.1      21.1       2.2

95% CI for mu (1) - mu (2): ( -5.1,  5.3)

T-Test mu (1) = mu (2) (vs not =): T = 0.05  P = 0.96  DF = 180

Two Sample T-Test and Confidence Interval

Two sample T for Forum

College       N      Mean     StDev   SE Mean

1           206      21.3      40.0       2.8

2            94       5.1      14.3       1.5

95% CI for mu (1) - mu (2): (10.0,  22.4)

T-Test mu (1) = mu (2) (vs not =): T = 5.13  P = 0.0000  DF = 286

Two Sample T-Test and Confidence Interval

Two sample T for Texting

College       N      Mean     StDev   SE Mean

1           206      32.0      44.7       3.1

2            94      19.9      27.7       2.9

95% CI for mu (1) - mu (2): ( 3.8,  20.4)

T-Test mu (1) = mu (2) (vs not =): T = 2.86  P = 0.0046  DF = 271

Two Sample T-Test and Confidence Interval

Two sample T for Mobiles

College       N      Mean     StDev   SE Mean

1           206      36.7      55.3       3.9

2            94      28.1      38.1       3.9

95% CI for mu (1) - mu (2): ( -2.2,  19.5)

T-Test mu (1) = mu (2) (vs not =): T = 1.57  P = 0.12  DF = 252

Two Sample T-Test and Confidence Interval

Two sample T for Intellect

College       N      Mean     StDev   SE Mean

1           205      7.21      2.04      0.14

2            94      7.96      1.97      0.20

95% CI for mu (1) - mu (2): ( -1.23,  -0.25)

T-Test mu (1) = mu (2) (vs not =): T = -2.99  P = 0.0031  DF = 185

Two Sample T-Test and Confidence Interval

Two sample T for Grades

College       N      Mean     StDev   SE Mean

1           204      6.99      2.32      0.16

2            93      8.58      1.53      0.16

95% CI for mu (1) - mu (2): ( -2.04,  -1.14)

T-Test mu (1) = mu (2) (vs not =): T = -6.99  P = 0.0000  DF = 257

Two Sample T-Test and Confidence Interval

Two sample T for Friends

College       N      Mean     StDev   SE Mean

1           205      7.18      2.26      0.16

2            92      7.14      2.42      0.25

95% CI for mu (1) - mu (2): ( -0.55,  0.63)

T-Test mu (1) = mu (2) (vs not =): T = 0.13  P = 0.90  DF = 165

